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Unit 8 – Log Properties (Identify, Simplify) 

 

State the property or properties used to rewrite each expression. 

1. log 6 – log 3 = log 2     2.  log420 – 3 log4X = log4 
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3.  log 3x = log 3 + log x     4.  log5 3x + log512 – log5 3 = log5 12x 

 

 

 

 

 

Write each logarithmic expression as a single logarithm. 

5.   log54 + log53      6.   5 log 2 – 2 log 2    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7.  log24 + log22 – log28     8.   xx 77 log2log5      
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9.   x444 log4log60log       10.  2 log 4 + log 2 + log 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

11.   log34x + 2 log3(5y)     12.  (log 3 – log 4) – log 2   

 

 

 

 

 

 

 

 

 


